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1. Identify the frequency distribution table for the given ogive.
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Upper limits  s———s—»

Class-Interval |19 - 28 |28 -37|37 -46 |46 -55|55-64|64-73|73 - 82
Frequency 14 18 3 3 15 12 19

(i)

Class-Interval |19 -28|28-37|37-46|46-55|55-64|64-73|73-82

i
(i Frequency 17 11 18 2 2 20 10

Class-Interval |19 - 28|28 -37|37-46|46-55|55-64|64-73|73-82
Frequency 18 11 7 6 19 17 20

(iii)

Class-Interval |19 - 28|28 -37|37-46 |46 -55|55-64|64-73|73-82

iv
() Frequency 17 8 13 2 5 15 5

Class-Interval |19 - 28|28 -37 |37 -46 |46 -55|55-64|64-73|73 - 82
Frequency 17 9 4 20 8 11 18

(v)

2. Less than cumulative curves are drawn using

(i) lower boundaries of classes and greater than cumulative frequencies
(ii) lower boundaries of classes and less than cumulative frequencies
(iii) mid values of classes and less than cumulative frequencies

(iv) upper boundaries of classes and less than cumulative frequencies



3. Greater than cumulative curves are drawn using

(i) upper boundaries of classes and greater than cumulative frequencies
(ii) upper boundaries of classes and less than cumulative frequencies
(iii) lower boundaries of classes and greater than cumulative frequencies

(iv) mid values of classes and greater than cumulative frequencies

4. ldentify the frequency distribution table for the given 'less than' ogive.

¥
L

100

—90

—80

—70
-3
[¥)
=
L |60
o
@
—
o —50
2
e
< |40
E /
=
Yol 3 r’____,,-

T, //

10 r/

_rx_
135 215 295 375 455 535

Upper limits ~ s——a—»

Class-Interval |14 - 21|22 -29|30-37|38-45|46-53
Frequency 9 7 10 3 9

Class-Interval |14 -21|22-29|30-37|38-45|46-53
Frequency 15 12 20 17 8

Class-Interval |14 - 21|22 -29|30-37|38-45|46 -53
Frequency 15 1 19 13 3

Class-Interval |14 -21|22-29|30-37|38-45|46-53
Frequency 5 3 4 13 5

Class-Interval |14 - 21|22 -29|30-37|38-45|46 - 53
Frequency 13 7 7 4 8




5. Identify the frequency distribution table for the given "'more than' ogive.

Y
A
| 100
|90
T 80
70
I
2
L
o
@
Bl \k
s ™
"
S 40
£ \\
Y L 30 ol
_20 \\
10 \\
.rx_
15 195 275 355 435 515 595 675 75.5
[ I [ I

Lower limits  s——a—p

Class-Interval |12 - 19|20-27|28-35|36-43|44-51|52-59|60-67|68-75
Frequency 1 5 1 3 4 13 6 20

(i) Class-Interval |12 -19(20-27|28-35|36-43|44-51|52-59|60-67|68-75
i

Frequency 7 4 12 6 8 9 8 4

(i) Class-Interval |12 - 19|20-27|28-35|36-43|44-51|52-59(60-6768-75
iii

Frequency 13 8 16 6 12 20 4 18

(iv) Class-Interval |12 -19|20-27|28-35|36-43|44-51|52-59|60-67|68-75
v

Frequency 16 18 13 2 14 18 13 19

Class-Interval |12 -19|20-27(28-35|36-43|44-51|52-59|60-67|68-75
Frequency 4 11 13 7 3 9 14 17




6.

Identify the frequency distribution table for the given 'median' ogive.
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Class-Interval  s——a—3
Class-Interval |14 - 20|21 -27|28-34|35-41|42-48|49-55|56-62|63-69
Frequency 13 7 9 3 3 8 18 3
Class-Interval |14 - 20|21 -27(28-34(35-41|42-48|49-55|56-62|63 - 69
Frequency 13 16 10 5 3 7 17 4
Class-Interval |14 - 20|21 -27|28-34|35-41(42-48|49-55|56-62|63-69
Frequency 3 10 6 11 10 10 3 5
Class-Interval |14 - 20|21 -27|28-34(35-41|42-48|49-55|56-62|63-69
Frequency 19 8 1 13 8 2 5 3
Class-Interval |14 - 20|21 - 27|28 -34|35-41|42-48|49-55|56-62|63-69
Frequency 11 12 11 10 7 3 12 3




7. Identify the frequency distribution table for the given 'less than' ogive.
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Upper limits s———a—

Class-Interval |17 - 24 (24 -31|31-38|38-45|45-52
Frequency 5 12 8 11 7

(i)

Class-Interval |17 - 24|24 -31|31-38|38-45|45-52

i
(i Frequency 17 1 1 15 9

Class-Interval |17 - 24|24 -31|31-38|38-45|45-52

iii
(i) Frequency 3 19 9 5 17

Class-Interval |17 - 24|24 -31|31-38|38-45|45-52

iv
() Frequency 7 19 12 11 19

Class-Interval |17 - 24|24 -31|31-38|38-45|45-52

v
V) Frequency 3 10 8 12 12




8. Identify the frequency distribution table for the given "'more than' ogive.
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Lower limits  s———a—2p

Class-Interval | 18 - 28|28 - 38|38 -48|48 - 58|58 - 68
Frequency 20 2 13 2 12

(i)

Class-Interval |18 - 28|28 - 38|38 - 48 |48 - 58|58 - 68

i
(i Frequency 6 7 9 12 17

Class-Interval |18 - 28 |28 - 38|38 -48|48 - 58|58 - 68
Frequency 13 16 19 15 17

(iii)

Class-Interval |18 - 28|28 - 38|38 - 48|48 - 58|58 - 68

iv
(V) Frequency 13 19 20 2 19

Class-Interval |18 - 28 |28 - 38|38 - 48|48 - 58 |58 - 68

v
V) Frequency 11 10 5 5 9




9. lIdentify the frequency distribution table for the given 'median' ogive.
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Class-Interval s———s

Class-Interval [12-19(19-26|26-33|33-40|40-47|47 -54 |54 -61
Frequency 13 6 13 1 7 19 18

(i)

Class-Interval (12 -19|19-26|26-33|33-40|40-47 |47 -54|54 -61

i
(i Frequency 3 5 5 13 17 13 11

Class-Interval |12 -19|19-26|26-33|33-40(40-47|47 -54 |54 -61

iii
(i Frequency 4 9 16 2 9 20 18

(iv) Class-Interval |12 -19|19-26|26-33|33-40(40-47|47-54|54-61
iv

Frequency 7 11 3 20 13 6 4

Class-Interval [12-19(19-26(26-33|33-40|40-47|47 -54|54-61
Frequency 11 4 7 9 11 12 12




The heights of 40 pupils in a school are given below. Identify the frequency distribution table for the given''

" less than' ogive.

No. of pupils
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Height {in cm) e——a—
Height (in cm) | 125 - 135|136 - 146|147 - 157|158 - 168|169 - 179|180 - 190|191 - 201
No. of pupils 3 3 2 4 7 10 8
Height (in cm) | 125 - 135|136 - 146 (147 - 157|158 - 168 169 - 179|180 - 190|191 - 201
No. of pupils 3 5 3 4 7 10 8
Height (in cm) [ 125 - 135|136 - 146|147 - 157|158 -168|169 -179|180- 190|191 - 201
No. of pupils 3 3 5 8 7 10 8
Height (in cm) | 125 - 135|136 - 146|147 - 157|158 - 168|169 - 179|180 - 190|191 - 201
No. of pupils 3 8 5 4 7 10 3
Height (in cm) | 125 - 135|136 - 146|147 - 157|158 - 168|169 - 179|180 - 190|191 - 201
No. of pupils 3 3 5 4 7 10 8




11.

The daily income of 40 workers of a factory is given below. Identify the frequency distribution table for the given '

more than' ogive.
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Daily income {in RS) s——a3
(0 Daily income (in Rs) (100 -110|{110-120(120-130|130-140|140-150|150-160
i
No. of workers 5 9 10 6 5 5
(i) Daily income (in Rs) (100 -110|110-120|120-130|130- 140140 - 150|150 - 160
i
No. of workers 5 10 9 4 5 5
(i) Daily income (in Rs) |100-110|110-120|120-130(130-140|140-150|150-160
iii
No. of workers 5 10 14 6 5 5
(iv) Daily income (in Rs) |100-110|110-120|120-130|130-140|140- 150|150 - 160
iv
No. of workers 5 5 9 6 5 10
W) Daily income (in Rs) (100 -110|{110-120(120-130|130-140|140- 150|150 - 160
\Y;
No. of workers 5 10 9 6 5 5




The Marks obtained by 62 students of a class in an examination is given below.
" Identify the frequency distribution table for the given 'more than' ogive.
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Marks —s———a—p
Marks 9-19(/19-29(29-39(39-49(49-59|59-69|69-79|79 -89
No. of students 6 10 4 5 6 10 9 9
Marks 9-19/19-29|29-39(39-49(49-59(59-69(69-79|79 -89
No. of students 6 10 5 7 6 10 9 9
Marks 9-19(19-29(29-39(39-49/49-59|59-69|69-79|79 -89
No. of students 6 10 7 5 6 10 9 9
Marks 9-19/19-29|29-39(39-49(49-59(59-69|(69-79|79 -89
No. of students 6 9 7 5 6 10 9 10
Marks 9-19(19-29|29-39|39-49|49-59/59-69/69-79|79 -89
No. of students 6 10 7 5 4 10 9 9




The production yield in kg per hectare of wheat of 40 farms of a village is given below.
" Identify the frequency distribution table for the given 'more than' ogive.
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65 75 85 95 105 115

Production yield (in kg/ha) s———x

Production yield (in kg/ha) |65-75|75-85(85-95|95-105|105-115

i
(0 Number of farms 9 6 5 10 10

Production yield (in kg/ha) |65 - 75|75-85|85-95|95-105|105 - 115

(i Number of farms 9 8 5 10 10

Production yield (in kg/ha) |65 - 75|75 -85|85-95|95-105|105 - 115
Number of farms 9 10 5 10 6

(iii)

Production yield (in kg/ha) |65 -75|75-85|85-95|95- 105|105 - 115

(iv) Number of farms 9 6 1 10 10

Production yield (in kg/ha) |65-75|75-85|85-95|95-105|105-115
Number of farms 9 5 6 10 10




The Marks obtained by 61 students of a class in an examination is given below.
" Identify the frequency distribution table for the given 'median’ ogive.
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Marks —s————a—p

(0 Marks 10-20(20-30(30-40/40-50|/50-60|60-70|70-80
i
No. of students 8 9 8 10 7 10 9

(i) Marks 10-20/20-30/30-40/40-50(50-60(60-70|70-80
" I'No. of students| 8 8 9 10 7 10 9
(i) Marks 10-20(20-30|30-40|40-50|50-60(60-70(70-80
11

No. of students 8 8 4 10 7 10 9
(iv) Marks 10-20/20-30|30-40/40-50(50-60(60-70|70-80
iv

No. of students 8 9 9 10 7 10 8

Marks 10-20(20-30|30-40|(40-50|50-60|60-70|70-80

No. of students 8 8 9 5 7 10 9




15.

Heights of 71 students (in cm) are given below. Identify the frequency distribution table for the given 'less than

' ogive.
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Height (in cm) s——p
(0) Height (in cm) |127-133|133-139|139 -145|145-151|151 - 157
i
No. of students 9 18 16 18 10
(i) Height (in cm) | 127 -133(133-139|139-145|145- 151|151 - 157
ii
No. of students 9 10 16 18 18
(i) Height (in cm) [127 -133|133-139|139-145|145-151|151 - 157
iii
No. of students 9 18 20 18 10
(iv) Height (incm) |127 -133|133-139|139 - 145|145 - 151|151 - 157
iv
No. of students 9 16 18 18 10
W) Height (in cm) (127 -133|133-139|139-145|145-151|151 - 157
Vv
No. of students 9 13 16 18 10




16.

Heights of 94 students (in cm) are given below. Identify the frequency distribution table for the given 'less than

' ogive.
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(i)

(if)

(iii)

(iv)

Height (in cm) s———»
Height (in cm) (122 -129|130-137|138-145|146-153|154-161|162-169|170-177|178-185
No. of students 10 10 18 6 6 17 7 20
Height (in cm) |122-129(130-137|138-145|146- 153|154 -161|162-169|170-177|178 - 185
No. of students 10 10 6 18 1 17 7 20
Height (in cm) (122 -129|130- 137|138 -145|146-153|154-161|162-169|170-177|178-185
No. of students 10 10 6 18 6 17 7 20
Height (in cm) |122-129(130-137|138-145|146- 153|154 -161|162-169|170-177|178-185
No. of students 10 20 6 18 6 17 7 10
Height (in cm) (122 -129|130-137|138-145|146-153|154-161|162-169|170-177|178-185
No. of students 10 10 9 18 6 17 7 20




17.

Heights of 94 students (in cm) are given below. Identify the frequency distribution table for the given 'more than

' ogive.
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Height (in cm) s———»
(i Height (in cm) (121 -128|128-135|135-142|142-149|149-156|156-163|163-170|170-177
i
No. of students 8 14 15 19 11 13 9 10
(i) Height (in cm) |121-128(128-135|135-142|142-149|149-156|156-163|163-170(170-177
ii
No. of students 8 14 15 19 6 13 9 10
(i) Height (in cm) [121-128|128-135(135-142|142-149|149 - 156|156 -163|163-170|170-177
iii
No. of students 8 10 15 19 6 13 9 14
(i) Height (in cm) |121-128|128-135|135-142|142-149|149-156|156-163|163-170(170-177
v
No. of students 8 14 19 15 6 13 9 10
W) Height (in cm) (121 -128|128-135|135-142|142-149|149-156|156-163|163-170|170-177
Y,
No. of students 8 14 10 19 6 13 9 10




18.

Heights of 94 students (in cm) are given below. Identify the frequency distribution table for the given 'more than

' ogive.
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(i)

(if)

(iii)

(iv)

Height (in cm) s———»
Height (incm) (130-137|138-145|146 -153|154-161|162-169|170-177|178-185|186 - 193
No. of students 8 6 10 12 10 15 17 14
Height (incm) |130-137 (138 - 145|146 - 153|154 -161|162-169|170-177|178 -185|186 - 193
No. of students 8 6 12 10 12 15 17 14
Height (in cm) [130-137|138- 145|146 - 153|154-161|162-169|170-177|178 -185|186 - 193
No. of students 8 14 10 12 12 15 17 6
Height (incm) |130-137|138-145|146 - 153|154 -161|162-169|170-177|178-185|186 - 193
No. of students 8 6 8 12 12 15 17 14
Height (incm) (130-137|138- 145|146 -153|154-161|162-169|170-177|178-185|186 - 193
No. of students 8 6 10 12 12 15 17 14




19.

Heights of 86 students (in cm) are given below. Identify the frequency distribution table for the given 'median

' ogive.
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Height {in cm) e——a—
(i Height (incm) [130-138|138- 146|146 - 154|154 -162|162-170|170-178|178 - 186
i
No. of students 18 13 7 10 16 17 5
(i) Height (incm) |130-138|138- 146|146 - 154|154 -162|162-170|170-178|178 - 186
ii
No. of students 18 5 7 10 16 17 13
(i) Height (incm) [130-138|138-146|146 - 154|154 -162|162-170|170-178|178 - 186
11
No. of students 18 13 10 10 16 17 5
(iv) Height (incm) |130-138|138- 146|146 - 154|154 -162|162-170|170-178|178 - 186
iv
No. of students 18 7 13 10 16 17 5
W) Height (incm) |[130-138|138- 146|146 - 154|154 -162|162-170|170-178|178 - 186
Y,
No. of students 18 13 7 15 16 17 5




20.

Heights of 74 students (in cm) are given below. Identify the frequency distribution table for the given 'median

' ogive.
Y
4

—100

—90

—80

70 //
£ 160 \ /
Q
S /
= 50 7
k=1 \ /
S —40 )&

—30

/)
—20
—10
.rx—
120.5 129.5 1385 1475 156.5 1655
I N I N B

(iii)

(iv)

Height (in cm) s——p
Height (in cm) [121-129|130-138|139-147|148-156|157 - 165
No. of students 19 18 13 14 12
Height (incm) |121-129(130-138|139-147|148- 156|157 - 165
No. of students 19 21 11 14 12
Height (in cm) (121 -129|130-138|139-147|148-156|157 - 165
No. of students 19 11 18 14 12
Height (in cm) |121-129(130-138|139-147|148 - 156|157 - 165
No. of students 19 18 11 14 12
Height (incm) (121 -129|130-138|139-147|148- 156|157 - 165
No. of students 19 12 11 14 18

(v)




Heights of 78 plants (in cm) are given below.ldentify the frequency distribution table for the given 'less than
' ogive.

21.

No. of plants
!
=]

y
NN

55 62 69 76 83 90

Height (in cm) s——p

fx_

Height (incm) |55-62(62-69(69-76|76-83|83-90
No. of plants 11 15 16 19 17

Height (in cm) |55-62|62-69|69-76|76-83|83-90
No. of plants 11 17 16 19 15

Height (incm) |55-62|62-69(69-76|76-83|83-90
No. of plants 11 16 17 19 15

(iii)

Height (in cm) |55-62(62-69|69-76|76-83|83-90

iv
(v) No. of plants 11 21 16 19 15

Height (incm) |55-62|62-69|69-76|76-83(83-90
No. of plants 11 17 19 19 15

(v)




22.

Heights of 101 plants (in cm) are given below. Identify the frequency distribution table for the given 'less than

' ogive.
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Height {in cm) e——a—
(i Height (incm) |65-75|76-86|87-97|98-108|109-119(120-130|131- 141
i
No. of plants 19 8 16 14 12 16 16
(i) Height (incm) |65-75|76-86|87-97|98-108|109-119|120-130|131 - 141
i
No. of plants 19 16 16 14 12 16 8
(i) Height (incm) [65-75|76-86|87-97|98-108 /109 -119|120-130|131- 141
iii
No. of plants 19 16 16 11 12 16 8
(iv) Height (incm) |65-75|76-86|87-97|98-108|109-119|120-130|131 - 141
iv
No. of plants 19 16 21 14 12 16 8




Heights of 72 plants (in cm) are given below.ldentify the frequency distribution table for the given "more than
' ogive.

23.

No. of plants
!
=]

e ne
61 70 79 88 97 106

Height (in cm) s——p

Height (incm) | 61-70(70-79|79-88|88-97|97 - 106
No. of plants 18 18 21 9 11

Height (incm) [61-70|70-79|79-88|88-97|97 - 106
No. of plants 18 16 18 9 11

Height (incm) |61 -70|70-79|79-88|88-97|97 - 106
No. of plants 18 14 16 9 11

(iii)

Height (incm) |61 -70|70-79|79-88|88-97|97 - 106

iv
(v) No. of plants 18 18 16 9 11

Height (incm) |61 -70|70-79|79-88(88-97|97 - 106
No. of plants 18 11 16 9 18

(v)




24.

Heights of 81 plants (in cm) are given below.ldentify the frequency distribution table for the given "more than

' ogive.
Y
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655 765 875 985 1095 1205 1315 1425
Y A N N
Height {in cm) e——a—
(i Height (incm) (66 - 76|77 -87(88-98|99-109|110-120(121-131|132- 142
i
No. of plants 8 9 5 18 10 18 8
(i) Height (incm) |66 - 76|77 - 87|88 -98|99-109|110-120|121-131|132 - 142
i
No. of plants 8 8 10 18 10 18 9
(i) Height (incm) (66 - 76|77 -87|88-98|99-109|110-120|121-131|132-142
iii
No. of plants 8 9 10 22 10 18 8
(iv) Height (incm) |66 - 76|77 -87|88-98(99-109|110-120|121-131|132- 142
iv
No. of plants 8 9 10 18 10 18 8
W) Height (incm) |66 -76|77-87|88-98|99-109|110-120|121-131|132-142
Y
No. of plants 8 10 9 18 10 18 8




Heights of 83 plants (in cm) are given below.ldentify the frequency distribution table for the given 'median
' ogive.

25.

No. of plants
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56 66 76 86 96 106 116

Height (in cm) s——p

Height (in cm) |56 - 66 |66 - 76 |76 - 86 (86 - 96 |96 - 106 | 106 - 116
No. of plants 5 19 13 9 17 20

Height (in cm) |56 - 66|66 - 76|76 - 86 |86 - 96|96 - 106|106 - 116
No. of plants 5 20 19 9 17 13

(ii)

Height (in cm) |56 - 66 |66 - 76|76 - 86 |86 - 96 |96 - 106|106 - 116

iii
o No. of plants 5 13 19 11 17 20

Height (in cm) |56 - 66 |66 - 76|76 - 86 |86 - 96 |96 - 106 | 106 - 116

iv
() No. of plants 5 13 19 9 17 20

Height (incm) |56 - 66 |66 - 76 |76 - 86|86 - 96 |96 - 106 | 106 - 116
No. of plants 5 13 15 9 17 20

(v)




Heights of 54 plants (in cm) are given below.ldentify the frequency distribution table for the given 'median
' ogive.

26.

No. of plants
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M

5 A

/

615 705 795 885 975 1065 1155

Height (in cm) s——p

Height (incm) |62 -70|71-79|80-88(89-97|98-106|107 - 115
No. of plants 5 5 6 11 14 13

Height (incm) |62 -70|71-79|80-88(89-97|98-106|107 - 115
No. of plants 5 5 6 15 14 13

(ii)

Height (incm) |62-70|71-79|80-88(89-97|98-106|107 - 115

iii
o No. of plants 5 13 6 11 14 5

Height (incm) |62 -70|71-79|80-88|89-97|98-106|107 - 115

iv
() No. of plants 5 5 11 11 14 13

Height (incm) |62 -70|71-79(80-88|89-97|98-106|107 - 115
No. of plants 5 6 5 11 14 13

(v)




Ages of 98 students (in years) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

27.

No, of students
l
[a=]
\"\.

15 24 33 42 51 60 68 78

Age (in years) s—sp

Age (in years) [15-24|24-33|33-42|42-51|51-60|60-69|69-78
No. of students 15 6 18 12 15 15 12

Age (in years) |15-24|24-33(33-42|42-51|51-60|60-69(69-78
No. of students 15 18 6 17 15 15 12

Age (in years) |15-24|24-33|33-42|42-51|51-60|60-69|69-78
No. of students 15 6 23 17 15 15 12

Age (in years) |15-24|24-33|33-42|42-51|51-60(60-69|69-78
No. of students 15 12 18 17 15 15 6

Age (in years) [15-24|24-33|33-42|42-51|51-60|60-69|69-78
No. of students 15 6 18 17 15 15 12




Ages of 76 students (in years) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

28.

No, of students
l
[a=]
\

B /
- A

J'x_
145 235 325 415 505 595 685 775

Age (in years) s—sp

Age (in years) [15-23|24-32|33-41|42-50|51-59|60-68|69-77
No. of students 10 18 15 6 9 11 7

Age (in years) |15-23(24-32(33-41|42-50|51-59|60-68|69-77
No. of students 10 15 18 2 9 11 7

Age (in years) |15-23|24-32(33-41|42-50|51-59|60-68|69-77
No. of students 10 7 18 6 9 11 15

Age (in years) |15-23(24-32(33-41|42-50|51-59|60-68|69-77
No. of students 10 15 21 6 9 11 7

Age (in years) [15-23(24-32|33-41|42-50|51-59|60-68|69-77
No. of students 10 15 18 6 9 11 7




Ages of 74 students (in years) are given below. Identify the frequency distribution table for the given 'more than
' ogive.

29.

No, of students
L
L]

fx_

15 21 27 33 39 45

Age (in years) s———»

Age (in years) |15-21|21-27|27-33|33-39|39-45
No. of students| 17 9 18 15 15

Age (in years) |15-21|21-27|27-33|33-39|39-45
No. of students 17 18 9 15 15

Age (in years) [15-21|21-27|27-33|33-39|39-45
No. of students 17 9 15 15 15

(iii)

Age (in years) |15-21|21-27|27-33|33-39|39-45

iv
(iv) No. of students 17 15 18 15 9

Age (in years) [15-21(21-27|27-33|33-39(39-45
No. of students 17 5 18 15 15

(v)




Ages of 95 students (in years) are given below. Identify the frequency distribution table for the given 'more than
" ' ogive.

No, of students
I
(=]

185 245 305 365 425 485

Age (in years) s—s3

o]
Ln

Age (in years) [13-18(19-24|25-30|31-36|37-42|43-48
No. of students 16 17 9 10 20 19

Age (in years) |13-18|19-24(25-30(31-36|37-42|43-48
No. of students 16 17 13 6 20 19

(ii)

Age (in years) |13-18|19-24|25-30|31-36(37-42|43-48

iii
(i) No. of students 16 17 13 10 20 19

Age (in years) [13-18|19-24|25-30|31-36|37-42(43-48

iv
(iv) No. of students 16 13 17 10 20 19

Age (in years) |13-18|19-24|25-30|31-36|37-42|43-48

\Y;
v) No. of students 16 19 13 10 20 17




Ages of 79 students (in years) are given below. Identify the frequency distribution table for the given 'median
' ogive.

31.

—100

—90

—80

No, of students
Il
[=]
/

/|
A
- JAEN
- pd N\

15 27 35 43 51 59 67 715 83

Age (in years) s——ap

Age (in years) |19-27|27-35|35-43(43-51|51-59|59-67|67-75|75-83

i
(M No. of students 9 7 8 12 11 13 16 5

Age (in years) |19-27|27-35|35-43|43-51|51-59|59-67|67-75|75-83
No. of students 9 7 12 6 11 13 16 5

(if)

Age (in years) |19-27|27-35|35-43|43-51|51-59|59-67|67-75|75-83

iii
(i) No. of students 9 7 6 12 11 13 16 5

Age (in years) |19-27(27-35(35-43|43-51|51-59|59-67|67-75|75-83
No. of students 9 5 6 12 11 13 16 7

(iv)

Age (in years) |19-27|27-35(35-43|43-51|51-59(59-67|67-75|75-83
No. of students 9 7 6 12 6 13 16 5




Ages of 55 students (in years) are given below. Identify the frequency distribution table for the given 'median

32. T
ogive.
it
4
—100
—90
—80
—70
2 160
:
& 50
5 N
] —40 \ /"
30
L 20 r/ \
| / \\
.rx—
155 235 315 395 475 555 633
| N S R B

Age (in years) s—s3

Age (in years) [16-23(24-31|32-39|40-47|48-55|56-63
No. of students 11 8 14 12 9 5

Age (in years) |16-23|24-31(32-39(40-47|48-55|56-63
No. of students 11 5 10 12 9 8

(ii)

Age (in years) |16-23(24-31|32-39(40-47|48-55|56-63

iii
(i) No. of students 11 8 10 9 9 5

Age (in years) |16-23|24-31|32-39|40-47|48-55|56-63

iv
(iv) No. of students 11 8 10 12 9 5

Age (in years) |16-23|24-31|32-39|40-47|48-55|56-63

\Y;
v) No. of students 11 10 8 12 9 5




33. Scores of 71 students are given below. Identify the frequency distribution table for the given 'less than' ogive.

¥
L
=100
—a0
—80
70 ¥
W

No, of students
Il
[=]

/

]

—10
ol *q
72 77 82 87 92 97 102
I S N IR
Score — &%
(i Score 72-77|77-82|82-87|87-92|92-97|97 -102
i
No. of students 14 18 5 12 16 6
(i) Score 72-77|77-82|82-87|87-92(92-97(97-102
ii
No. of students 14 5 20 12 16 6
(i) Score 72-77|77-82|82-87|87-92|92-97|97-102
iii
No. of students 14 6 18 12 16 5
(iv) Score 72-77|77-82|82-87|87-92|92-97|97 -102
iv
No. of students 14 5 18 17 16 6
Score 72-77|77-82|82-87|87-92|92-97|97-102

No. of students 14 5 18 12 16 6




34. Scores of 70 students are given below. Identify the frequency distribution table for the given 'more than' ogive.

No, of students

(i)

(if)

(iii)

(iv)

Y.
A
—100
—90
—80
—70
60
50 \
40
30 \
L 20
N X
o e
13 83 93 103 113 123
N Y I
SCOrg s
Score 73-83|(83-93/93-103(103-113(113-123
No. of students 8 17 20 16 9
Score 73-83(83-93(/93-103|103-113|113-123
No. of students 8 22 17 16 9
Score 73-83183-93/93-103|103-113|113-123
No. of students 8 20 14 16 9
Score 73-83(83-93(/93-103|103-113|113-123
No. of students 8 20 17 16 9
Score 73-83(83-93/93-103(103-113(113-123
No. of students 8 9 17 16 20




35. Scores of 91 students are given below. Identify the frequency distribution table for the given 'median' ogive.

NN

No, of students
Il
[=]

/

—20
/
10
89 94 99 104 109 114 119 |
I S N IR
SCOre  s——a—p
(i Score 89-94(94-99/99-104|104-109/109-114|114-119
! No. of students 16 15 11 16 18 11
(i) Score 89-94(94-99(99-104/104-109(109-114|114-119
ii
No. of students 16 11 15 16 18 15
(i) Score 89-94|94-99/99-104|104-109|109-114|114-119
iii
No. of students 16 15 15 12 18 11
(iv) Score 89-94(94-99(99-104(104-109|109-114|114-119
iv
No. of students 16 15 15 16 18 11




Temperatures of 76 days (in °C) are given below. Identify the frequency distribution table for the given 'less than
" ' ogive.

Y

A
—100

—90

—80
L 70 /
—60 /

w
-3
g /
w. |—50
[=]
S
= | a0 /
30 /
20 P
10

x_
30 35 40 45 50 55

Temperature (in degree) s———x»

Temperature (in degree) |30-35(35-40(40-45|45-50|50-55
No. of days 18 3 17 20 15

(i)

Temperature (in degree) |30-35|35-40(40-45|45-50|50-55
No. of days 18 17 6 20 15

(if)

Temperature (in degree) |30 -35(35-40(40-45|45-50|50-55
No. of days 18 6 14 20 15

(iii)

Temperature (in degree) |30-35|35-40(40-45(45-50|50-55
No. of days 18 6 17 20 15

(iv)

Temperature (in degree) |30-35(35-40(40-45|45-50|50-55
No. of days 18 15 17 20 6




Temperatures of 92 days (in °C) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

37.

No. of days

% #
/

J'x_
295 395 495 595 695 795 895 995

Temperature (in degree] s———p

Temperature (in degree) |30-39(40-49(50-59|60-69|70-79|80-89(90-99
No. of days 15 11 13 16 7 20 6

Temperature (in degree) |30-39|{40-49|/50-59|/60-69|70-79(80-89|90-99
No. of days 15 17 11 16 7 20 6

Temperature (in degree) |30-39(40-49(50-59/60-69|70-79(80-89(90 -99
No. of days 15 11 17 14 7 20 6

Temperature (in degree) |30-39|40-49(50-59|60-69|70-79(80-89|90-99
No. of days 15 6 17 16 7 20 11

Temperature (in degree) |30-39(40-49(50-59|60-69|70-79|80-89|90-99
No. of days 15 11 17 16 7 20 6




Temperatures of 99 days (in °C) are given below. Identify the frequency distribution table for the given'
" more than' ogive.

Y

/
—100

—90

—80

No. of days

N

20 M

=]

27 33 39 45 51 57 63 69 715

Temperature (in degree} s———

Temperature (in degree) |27 -33(33-39(39-45|45-51|51-57|57-63(63-69(69-75

i
W No. of days 13 14 12 7 18 10 8 17

Temperature (in degree) |27 -33|33-39|39-45|45-51|51-57|57-63|63-69|69-75
No. of days 13 17 7 12 18 10 8 14

(if)

Temperature (in degree) |27 -33(33-39(39-45|45-51|51-57|57-63(63-69|69-75
No. of days 13 17 17 7 18 10 8 14

(iii)

Temperature (in degree) |27 -33|33-39|39-45(45-51|51-57|57-63|63-69(69-75
No. of days 13 17 12 7 20 10 8 14

(iv)

Temperature (in degree) |27 -33(33-39(39-45|45-51|51-57|57-63|63-69(69-75
No. of days 13 17 12 7 18 10 8 14




Temperatures of 95 days (in °C) are given below. Identify the frequency distribution table for the given'
" more than' ogive.

No. of days

345 445 545 645 745 845 945 1045

Temperature (in degree] s———p

Temperature (in degree) |35-44|45-54|55-64|65-74|75-84|85-94(95-104
No. of days 5 11 20 15 17 16 11

Temperature (in degree) |35-44|45-54|55-64|65-74|75-84|85-94|95-104
No. of days 5 11 25 15 17 16 11

Temperature (in degree) |35-44(45-54|55-64|65-74|75-84(85-94(95-104
No. of days 5 11 20 20 17 16 11

Temperature (in degree) |35-44|45-54|55-64|65-74|75-84|85-94|95-104
No. of days 5 20 11 15 17 16 11




Temperatures of 95 days (in °C) are given below. Identify the frequency distribution table for the given 'median
' ogive.

40.

PENM /
—B80 \ /

No. of days

» // \\
| g o5

e

26 32 38 44 50 56 62 68 T4

Temperature (in degree} s———

Temperature (in degree) |26 -32(32-38(38-44|44-50|50-56|56-62|62-68|68-74

i
0 No. of days 8 8 9 15 20 13 8 17

Temperature (in degree) |26-32|32-38|38-44|44-50|50-56|56-62|62-68|68-74
No. of days 8 8 15 6 20 13 8 17

(if)

Temperature (in degree) |26 -32(32-38|38-44|44-50|50-56|56-62|62-68|68-74
No. of days 8 17 6 15 20 13 8 8

(iii)

Temperature (in degree) |26 -32|32-38|38-44|44-50|50-56|56-62|62-68|68-74
No. of days 8 8 6 15 25 13 8 17

(iv)

Temperature (in degree) |26 -32(32-38(38-44|44-50|50-56|56-62|62-68|68-74
No. of days 8 8 6 15 20 13 8 17




Temperatures of 68 days (in °C) are given below. Identify the frequency distribution table for the given 'median
' ogive.

41.

No. of days
!
=

)7
» ZARN
N

y

X
245 315 385 455 525 595 665

Temperature (in degree) s—— a3

Temperature (in degree) |25-31(32-38(39-45|46-52|53-59|60-66
No. of days 7 11 14 9 9 18

Temperature (in degree) |25 -31|32-38|39-45|46-52|53-59|60 - 66

ii
W No. of days 7 18 11 9 9 14

Temperature (in degree) |25 -31|32-38|39-45|46-52|53-59|60-66

iii
o No. of days 7 14 7 9 9 18

Temperature (in degree) |25-31|32-38|39-45|46-52(53-59(60-66

iv
() No. of days 7 14 11 13 9 18

Temperature (in degree) |25-31(32-38(39-45|46-52|53-59 |60 - 66
No. of days 7 14 11 9 9 18

(v)




Weights of 55 students (in kg) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

42.

No, of students
L
L]
M

|

s 4
%

48 58 68 78 83 98

Weight {in kg) s——n

fx_

Weight (in kg) (48-58|58-68|68-78|78-88|88-98
No. of students 12 6 11 7 16

Weight (in kg) (48 -58|58-68|68-78|78-88|88-98
No. of students 12 11 9 7 16

Weight (in kg) 48-58|58-68|68-78|78-88|88-98
No. of students 12 9 8 7 16

(iii)

Weight (in kg) (48 -58|58-68|68-78|78-88|88-98

iv
(iv) No. of students 12 16 11 7 9

Weight (in kg) |48 -58|58-68|68-78|78-88|88-98
No. of students 12 9 11 7 16

(v)




Weights of 69 students (in kg) are given below. Identify the frequency distribution table for the given 'less than
' ogive.

43,

No, of students
I
(=]
‘\\

I A4

y

405 475 545 615 685 755 825

Weight (in kg) s———0ows—

Weight (in kg) (41 -47|48-54|55-61|62-68|69-75|76-82
No. of students 17 14 18 6 7 7

Weight (in kg) (41-47|48-54|55-61|62-68(69-75|76-82
No. of students 17 18 14 6 7 7

(ii)

Weight (in kg) |41 -47|48-54|55-61|62-68|69-75|76-82

iii
(i) No. of students 17 14 18 9 7 7

Weight (in kg) (41-47|48-54|55-61|62-68|69-75|76-82

iv
(iv) No. of students 17 14 21 6 7 7

Weight (in kg) (41 -47|48-54|55-61|62-68|69-75|76-82

\Y;
(v) No. of students 17 7 18 6 7 14




Weights of 89 students (in kg) are given below. Identify the frequency distribution table for the given 'more than

44, =
ogive.
Y
4
100
Ty
80
70
2 160
b
£ =0
k=) \
S (40
30
20
,X—
45 54 B3 72 Bl 90 99
N S N N N

Weight (in kg) s———0ows—

Weight (in kg) |45-54|54-63|63-72|72-81|81-90(90-99
No. of students 19 17 16 15 15 7

Weight (in kg) (45-54|54-63|63-72|72-81(81-90|90-99
No. of students 19 17 16 20 15 7

(ii)

Weight (in kg) [45-54|54-63|63-72|72-81|81-90/90-99

iii
(i) No. of students 19 7 16 15 15 17

Weight (in kg) (45-54|54-63|63-72|72-81|81-90|90-99

iv
(iv) No. of students 19 17 19 15 15 7

Weight (in kg) (45-54|54-63|63-72|72-81(81-90|90-99

\Y;
(v) No. of students 19 16 17 15 15 7




Weights of 56 students (in kg) are given below. Identify the frequency distribution table for the given 'more than

45. =
ogive.
Y
4
100
90
80
70
£ 160
¥
2 50
Fror i -
w
N N
S (40
30
20
B \
475 545 615 685 755 825 |
I I I I

Weight {in kg) s——n

Weight (in kg) (48-54(55-61|62-68|69-75|76-82
No. of students 12 14 6 17 7

Weight (in kg) (48-54|55-61|62-68|69-75|76-82
No. of students 12 7 6 17 14

Weight (in kg) (48 -54|55-61|62-68|69-75|76-82
No. of students 12 6 14 17 7

(iii)

Weight (in kg) (48 -54|55-61|62-68|69-75|76-82

iv
(iv) No. of students 12 14 9 17 7

Weight (in kg) |48 -54|55-61|62-68|69-75|76-82
No. of students 12 10 6 17 7

(v)




46.

Weights of 108 students (in kg) are given below. Identify the frequency distribution table for the given 'median

' ogive.
Y.
y A
—100 /(
—90 \ /(
80 /
70 /)
g 60 A
: X
=
2 |50
s //
L] —40 / \
—30
—20 //
—10.
. K
60 70 80 90 100 110 120 130 140
I I N R N F
Weight (in kg) s——n
(i Weight (in kg) |[60-70|70-80({80-90(90-100|100-110({110-120|120-130|130-140
i
No. of students 14 15 18 15 10 16 10 10
(i) Weight (in kg) [60-70|70-80|80-90|90-100|{100-110|110-120|120-130/130- 140
ii
No. of students 14 15 10 18 10 16 10 10
(i) Weight (in kg) (60-70(70-80|80-90|90-100/100-110|110-120/120-130|130-140
iii
No. of students 14 15 15 18 12 16 10 10
(iv) Weight (in kg) (60-70(70-80(80-90(90-100|/100-110|110-120|120-130|130-140
iv
No. of students 14 10 15 18 10 16 10 15
W) Weight (in kg) |[60-70|70-80|{80-90|90-100|100-110|110-120|120-130(130-140
Y,
No. of students 14 15 15 18 10 16 10 10




Weights of 62 students (in kg) are given below. Identify the frequency distribution table for the given 'median
' ogive.

47.

No, of students
L
L]
Ve

—30 /
—20 7
L 10 /

g

.rx—
495 605 715 825 935 1045

Weight {in kg) s——n

Weight (in kg) (50-60(61-71|72-82(83-93(94-104
No. of students 8 13 15 17 9

Weight (in kg) ([50-60|61-71|72-82|83-93(94-104
No. of students 8 9 15 17 13

Weight (in kg) (50-60|61-71|72-82|83-93|94-104
No. of students 8 15 9 17 13

(iii)

Weight (in kg) |50 -60|61-71[72-82[83-93[94- 104

(iv) No. of students 8 9 10 17 13

Weight (in kg) |50-60|61-71(72-82|83-93|94-104
No. of students 8 6 15 17 13

(v)




Rainfall of 71 days (in mm) are given below. Identify the frequency distribution table for the given 'less than
" ' ogive.

No. of days

}(_
15 24 33 42 51 60"

Rainfall {in mm) s———a—

Rainfall (in mm)|15-24|24-33|33-42|42-51|51-60
No. of days 17 19 19 11 5

Rainfall (in mm)|15-24|24-33|33-42|42-51|51-60
No. of days 17 19 5 11 19

Rainfall (in mm) |15 -24 |24 -33|33-42/42-51|51-60
No. of days 17 5 14 11 19

(iii)

Rainfall (in mm)|15-24|24-33|33-42|42-51|51-60
No. of days 17 5 19 11 19

(iv)

Rainfall (in mm) |15-24|24-33|33-42(42-51|51-60
No. of days 17 8 19 11 19

(v)




Rainfall of 76 days (in mm) are given below. Identify the frequency distribution table for the given 'less than
" ' ogive.

No. of days
!
]

L/

/

55 125 195 265 335 405 475 545

Rainfall (in mm)} s———a—

Rainfall (in mm) 6-12|13-19|20-26|27-33|34-40|41-47|48-54
No. of days 16 7 18 5 8 16 6

Rainfall (in mm) | 6-12|13-19|20-26|27-33|34-40|41-47|48-54
No. of days 16 18 7 2 8 16 6

Rainfall (in mm) |[6-12|13-19(20-26|27-33|34-40|41-47|48-54
No. of days 16 6 7 5 8 16 18

Rainfall (in mm) | 6-12|13-19(20-26|27-33|34-40|41-47|48-54
No. of days 16 18 5 5 8 16 6

Rainfall (in mm) | 6-12|13-19|20-26|27-33|34-40|41-47|48-54
No. of days 16 18 7 5 8 16 6




Rainfall of 75 days (in mm) are given below. Identify the frequency distribution table for the given 'more than
" ' ogive.

No. of days

Ty .
~

yal
8 18 28 38 48 58 68

Rainfall (in mm) e—

Rainfall (in mm) 8-18|18-28|28-38|38-48(48-58|58-68
No. of days 12 16 7 17 7 16

Rainfall (in mm)|8-18|18-28|28-38|38-48|48-58|58-68
No. of days 12 7 13 17 7 16

(i)

Rainfall (in mm) (8 -18|18-28|28-38|38-48|48-58|58-68

iii
o No. of days 12 7 16 17 7 16

Rainfall (in mm) |8 -18|18-28|28-38|38-48|48-58|58-68

iv
(iv) No. of days 12 7 16 22 7 16

Rainfall (in mm) | 8-18|18-28|28-38|38-48(48-58|58-68
No. of days 12 16 16 17 7 7

(v)




Rainfall of 71 days (in mm) are given below. Identify the frequency distribution table for the given 'more than
' ogive.

51.

No. of days

95 185 275 365 455 54.5

Rainfall {in mm) s———a—

Rainfall (in mm) |10-18(19-27|28-36|37-45|46-54
No. of days 19 13 16 17 11

Rainfall (in mm)|10-18|19-27|28-36|37-45|46-54
No. of days 19 15 11 17 11

Rainfall (in mm) [10-18|19-27(28-36|37 -45|46-54
No. of days 19 11 11 17 13

(iii)

Rainfall (in mm)|10-18|19-27|28-36|37-45|46-54
No. of days 19 13 11 17 11

(iv)

Rainfall (in mm) |10-18(19-27|28-36|37-45|46-54
No. of days 19 11 13 17 11

(v)




Rainfall of 71 days (in mm) are given below. Identify the frequency distribution table for the given 'median
' ogive.

52.

No. of days
!
=]

: 40 ] /
A
)4

P

}(_
17 271 37 47 577

Rainfall {in mm) s———a—

Rainfall (in mm) |7 -17|17 - 27|27 -37 |37 -47 |47 -57
No. of days 16 7 10 15 20

Rainfall (in mm) |7 -17 |17 - 27|27 - 37|37 - 47 |47 - 57
No. of days 16 13 7 15 20

Rainfall (in mm) |7 - 17|17 - 27|27 - 37 |37 - 47|47 - 57
No. of days 16 7 13 15 20

(iii)

Rainfall (in mm) |7 -17|17 -27 |27 -37|37 -47 |47 - 57
No. of days 16 12 13 15 20

(iv)

Rainfall (in mm) |7 -17|17 - 27|27 -37 |37 - 47|47 - 57
No. of days 16 20 13 15 7

(v)




Rainfall of 77 days (in mm) are given below. Identify the frequency distribution table for the given 'median
" ' ogive.

No. of days
!
=

NNV
| % 7|

.

X
25 215 305 395 485 575 665

Rainfall (in mm) e—

Rainfall (in mm) |13 -21(22-30|31-39/40-48|49-57|58-66
No. of days 8 19 9 11 17 13

Rainfall (in mm)|13-21{22-30|31-39|40-48|49-57|58-66
No. of days 8 9 19 11 17 13

(ii)

Rainfall (in mm) |13-21/22-30(31-39|40-48|49-57|58-66

iii
o No. of days 8 9 19 15 17 13

Rainfall (in mm)|13-21|22-30(31-39/40-48|49-57|58-66

iv
() No. of days 8 13 19 11 17 9

Rainfall (in mm) |13 -21(22-30(31-39|(40-48|49-57|58-66
No. of days 8 9 24 11 17 13

(v)




Daily wages of 70 labourers (in X) are given below. Identify the frequency distribution table for the given'

" less than' ogive.

¥
A
L1100
90
—80
—70
£ 160
: /
B 50 4
5 /,/
5‘ 40 /
30 /
20 //
—10
- ne
298 304 310 316 322 328 334
I S R O IR
Daily wage (in RS) s——s»
(i Daily wage (in Rs) |298 - 304 |304 - 310|310 - 316|316 - 322|322 - 328|328 - 334
! No. of labourers 12 16 7 9 8 18
(i) Daily wage (in Rs) | 298 - 304|304 - 310(310- 316|316 - 322|322 -328(328-334
i
No. of labourers 12 7 16 9 8 18
(i) Daily wage (in Rs) (298 - 304|304 - 310|310 - 316|316 - 322|322 - 328|328 - 334
iii
No. of labourers 12 18 16 9 8 7
(iv) Daily wage (in Rs) | 298 - 304|304 - 310|310 - 316|316 - 322|322 -328|328 - 334
v No. of labourers 12 7 12 9 8 18
W) Daily wage (in Rs) | 298 - 304 |304 - 310|310 - 316 (316 - 322|322 - 328|328 - 334
v No. of labourers 12 7 16 5 8 18




Daily wages of 103 labourers (in X) are given below. Identify the frequency distribution table for the given '

" less than' ogive.

No. of labourers

/

/

/

@

2625 2725 2825 2925 3025 3125 3225 3325

Daily wage (in R5) s——ap
Daily wage (in Rs) | 263 - 272 (273 -282|283-292(293-302|303-312|313-322|323-332
No. of labourers 16 15 11 15 12 18 16
Daily wage (in Rs) | 263 - 272|273 - 282|283 -292|293-302|303-312|313-322|323-332
No. of labourers 16 15 11 20 12 18 16
Daily wage (in Rs) (263 -272|273-282|283-292|293-302(303-312|313-322|323-332
No. of labourers 16 11 15 15 12 18 16
Daily wage (in Rs) | 263 -272|273-282(283-292|293-302|303-312(313-322|323-332
No. of labourers 16 16 11 15 12 18 15
Daily wage (in Rs) | 263 - 272 (273 - 282|283 -292 (293 -302|303-312|313-322|323-332
No. of labourers 16 15 6 15 12 18 16




Daily wages of 107 labourers (in X) are given below. Identify the frequency distribution table for the given '
" more than' ogive.

No. of labourers

—100

—90

—80

Y
/

249 254 259 264 269 274

279

(if)

(iii)

(iv)

Daily wage (in Rs)

0—09

Daily wage (in
Rs)

244 - 249

249 - 254

254 - 259

259 - 264

264 - 269

269 - 274

274 - 279

279 - 284

No. of labourers

10

6

12

17

15

13

14

20

Daily wage (in
Rs)

244 - 249

249 - 254

254 - 259

259 - 264

264 - 269

269 - 274

274 - 279

279 - 284

No. of labourers

10

20

17

12

15

13

14

6

Daily wage (in
Rs)

244 - 249

249 - 254

254 - 259

259 - 264

264 - 269

269 - 274

274 - 279

279 - 284

No. of labourers

10

20

17

17

15

13

14

6

Daily wage (in
Rs)

244 - 249

249 - 254

254 - 259

259 - 264

264 - 269

269 - 274

274 - 279

279 - 284

No. of labourers

10

20

12

17

18

13

14

6

Daily wage (in
Rs)

244 - 249

249 - 254

254 - 259

259 - 264

264 - 269

269 - 274

274 - 279

279 - 284

No. of labourers

10

20

12

17

15

13

14

6




Daily wages of 66 labourers (in X) are given below. Identify the frequency distribution table for the given'

" more than' ogive.
Y
A
—100
—90
—80
—70
iy
] —60
=
a
2 150
w \
(=]
o —40
= R
—30
—20
—10
-l ne
2185 2295 2405 2515 2625 2735

(iii)

(iv)

Daily wage (in RS} #—ap
Daily wage (in Rs) | 219 - 229|230 - 240|241 - 251|252 - 262|263 - 273
No. of labourers 15 8 13 17 13
Daily wage (in Rs) | 219 -229|230 - 240|241 - 251|252 -262|263-273
No. of labourers 15 11 8 17 13
Daily wage (in Rs) |219 - 229|230 - 240|241 - 251|252 - 262|263 - 273
No. of labourers 15 13 6 17 13
Daily wage (in Rs) | 219 - 229|230 - 240|241 - 251|252 - 262|263 - 273
No. of labourers 15 13 8 17 13




58.

Daily wages of 122 labourers (in X) are given below. Identify the frequency distribution table for the given '
median' ogive.

\

P

¥
F,
—100
B \//
S 160
S /
(=]
® 50 /
k<] / \
_3 —40 /
—20 7 \
—10
X
44 254 264 274 284 294 304 314 324
N I N F O N
Daily wage (in Rs)  s——s—2p
0 Daily Re) (in|544.254|254 - 264|264 -274|274 - 284|284 - 294 | 294 - 304|304 - 314 | 314 - 324
|
No. of labourers 17 6 13 18 17 17 16 18
(i) Daily Re) (in 1544 254|254 -264|264-274274 - 284|284 - 294|294 - 304|304 - 314|314 - 324
Il
No. of labourers 17 18 18 13 17 17 16 6
i Daily Rage (in | 544 254|254 -264264-274|274 - 284|284 - 294|294 - 304|304 - 314|314 - 324
1
No. of labourers 17 18 13 18 17 17 16 6
i) Daily Re) (in 1544 254|254 - 264|264 - 274|274 - 284 | 284 - 294|294 - 304|304 - 314|314 - 324
v
No. of labourers 17 18 13 18 12 17 16 6
" Daily Rage (in 1544 254|254 -264|264-274 274 - 284|284 - 294|294 - 304|304 - 314|314 - 324
\"
No. of labourers 17 18 16 18 17 17 16 6




Daily wages of 69 labourers (in X) are given below. Identify the frequency distribution table for the given 'median

" ' ogive.

¥
A
100
—90.
—80
—70
= 160 . /
5
2 | 50 J/
£ N
5 /
o —40 W
= ></’
30 M
2N
20 /) -
10
S K
2325 2425 2525 2625 2725 2825 2925
I I T A AN B
Daily wage (in RS) s——s»
(i Daily wage (in Rs) | 233 - 242|243 - 252|253 -262 (263 -272|273-282|283-292
i
No. of labourers 11 11 10 7 8 18
(i) Daily wage (in Rs) | 233 - 242|243 - 252|253 -262|263-272|273-282(283-292
ii
No. of labourers 11 18 14 7 8 11
(i) Daily wage (in Rs) (233 -242 243 - 252|253 -262|263-272|273-282|283-292
iii
No. of labourers 11 14 11 7 8 18
(iv) Daily wage (in Rs) | 233 - 242|243 - 252|253 -262|263-272|273-282|283 - 292
iv
No. of labourers 11 11 14 2 8 18
W) Daily wage (in Rs) | 233 - 242|243 - 252|253 - 262|263 - 272|273 - 282|283 - 292
Y
No. of labourers 11 11 14 7 8 18




The heights of 41 pupils in a school are given below. Identify the frequency distribution table for the given less

(ii)

(iii)

(iv)

(v)

less than 154

less than 162

less than 170

less than 178

" than ogive.
i1
100
|
I
----- g0
|
I
----- 80
|
I
----- 70
I
I
w 60
7 [
3 [EH
o [E50
a |
g I
Z a0 A
I A
L~
----- 30 .
| v
' /
----- 20 .
| Vi
' /
----- 10 A
|
¥
13001138 1146 1154 1062 11701178 | 1)
Height {in cm) s———ap
(i Height (in cm) | less than 138 | less than 146
i
No. of pupils 7 11

21

29

34

39

Height (in cm)

less than 138

less than 146

less than 154

less than 162

less than 170

less than 178

No. of pupils

7

11

24

34

39

44

Height (in cm)

less than 138

less than 146

less than 154

less than 162

less than 170

less than 178

No. of pupils

7

17

21

31

36

41

Height (in cm)

less than 138

less than 146

less than 154

less than 162

less than 170

less than 178

No. of pupils

7

11

21

31

36

41

Height (in cm)

less than 138

less than 146

less than 154

less than 162

less than 170

less than 178

No. of pupils

7

12

22

32

37

41




The daily income of 24 workers of a factory is given below. Identify the frequency distribution table for the given

" less than ogive.

No, of workers

100 | 120 | 14

0

160 | 180

Daily income {in Rs}

o—oa

Daily income (in Rs)

less than 120

less than 140

less than 160

less than 180

(i)

No. of workers

9

14

19

24

Daily income (in Rs)

less than 120

less than 140

less than 160

less than 180

(i)

No. of workers

5

10

15

24

Daily income (in Rs)

less than 120

less than 140

less than 160

less than 180

(iii)

No. of workers

5

15

20

29

Daily income (in Rs)

less than 120

less than 140

less than 160

less than 180

(iv)

No. of workers

5

10

20

29




The marks obtained by 43 students of a class in an examination is given below. ldentify the frequency

" distribution table for the given less than ogive.

No, of students

(iii)

(iv)

Y
-100
|
|
----- a0
|
|
----- 80
|
|
----- 70
|
|
----- 60
|
----- 50
|
! A
40
| .
----- 30 ,/
| /,/
_____ 20 /J
| 7
_____ I
10 74
¥
100420113001 401 50} 60
e
Marks s———
Marks less than 20 |less than 30 | less than 40 | less than 50 | less than 60
No. of students 7 21 30 40 47
Marks less than 20| less than 30 | less than 40 | less than 50 | less than 60
No. of students 7 17 26 36 43
Marks less than 20 |less than 30 | less than 40 | less than 50 | less than 60
No. of students 7 16 26 36 43
Marks less than 20| less than 30 | less than 40 | less than 50 | less than 60
No. of students 7 17 28 38 45
Marks less than 20 | less than 30 | less than 40 | less than 50 | less than 60
No. of students 7 14 23 33 43




The production yield in kg per hectare of wheat of 38 farms of a village is given below. Identify the frequency

" distribution table for the given less than ogive.

Number of farms

(i)

(if)

(iii)

(iv)

Y
-100
|
|
----- 90
|
|
----- 80
|
|
----- 70
|
|
----- 60
I
----- 50
|
40
| i
_____ 30 ,/
| /
_____ 20 P
| A
_____ 10 r/
X
?58|08|59|09|5 _1£|JD _____
Production yield (in kg/ha) s——
Production yield (in kg/ha) | less than 80 | less than 85 | less than 90 | less than 95 | less than 100
Number of farms 9 16 23 33 38
Production yield (in kg/ha) | less than 80 | less than 85 |less than 90 | less than 95| less than 100
Number of farms 9 21 28 38 43
Production yield (in kg/ha) | less than 80 | less than 85 | less than 90 | less than 95 | less than 100
Number of farms 9 14 21 31 38
Production yield (in kg/ha) | less than 80 | less than 85 |less than 90 | less than 95| less than 100
Number of farms 9 16 21 31 36




Assignment Key

1) (i) 2) (iv) 3) (iii) 4) (i) 5) (ii) 6) (v)
7) (i) 8) (v) 9) (v) 10) (v) 11) (v) 12) (iii)
13) (i) 14) (ii) 15) (i) 16) (iii) 17) (ii) 18) (v)
19) (i) 20) (iv) 21) (ii) 22) (ii) 23) (iv) 24) (iv)
25) (iv) 26) (i) 27) (v) 28) (v) 29) (i) 30) (iii)
31) (iii) 32) (iv) 33) (v) 34) (iv) 35) (iv) 36) (iv)
37) (v) 38) (v) 39) (i) 40) (v) 41) (v) 42) (v)
43) (i) 44) (i) 45) (i) 46) (v) 47) (ii) 48) (iv)
49) (v) 50) (iii) 51) (iv) 52) (iii) 53) (ii) 54) (ii)
55) (i) 56) (v) 57) (iv) 58) (iii) 59) (v) 60) (iv)
61) (ii) 62) (ii) 63) (i)
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